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TrigonometryExercise for ID 9012

131 R 371 15w
Tl =-2m, T2 =-11m, 3=12mx, T4=13mx, 75 = , 76 = , T7 = — , 78 = —
2 2 2 2
10= 53 = 257 327 95 = 7 T
79 =— , TIO:T, T]]:T, TIZz—T, T]3:T, T14:—T, T15 =—-

T

737 &S m 91 = 95 =
TI6=—"] T17 =—", TI8=——"", T19=—""", 1720 = —
4 6 6 6

T
721 =Sin(9 ), 722 = Cos(—11 n), 723 =Tan(-7 m), 724 = Sec(5 m), T25=Sin( j

2
i 1= i (191
, T27 = Sec , T30 = Sin 3

35w 14wt S9m 51m 69
T31 = Sec —T s 732 =Cot —? , 733 =Cos _T , T34 = Sin _T , T35 = Sec 4

97wt n)

21 197 49
126 = Cos( j, 128 = Cot( j, 129 = Cos(

55m [ 55=m 55m 79
136 = Csc(— T), 137 = Sm( ), 138 = Cos( ), 139 = Tan( ), 740 = Cot(

6
197 31n 297 67m
T41 =42 COS(— —j _34/3 CSC( ] 4 Sin(— ) T Tan(— ]
4 3 6 4
95 14 51 97
ch Csc(— _nj -8 Cot(— _nj «/; Cos( ch
3 4 6
3¢ 37n 6l m 671
743 =«/5 Sec —T —36 Cot Tan 4 Cos p

69 47 1t 101 = S51xw
144 =442 Cos| = —64/3 Csc -5 |+ 443 Tan - = = | co -
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742 =9 Sec(—
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TrigonometryExercise for ID 9016

35n 131 11n 51
TI=11m, 2=12 =, T3 =-8m, T4 =-15m, 75 = , T6 = — , 77 =— , 8=—"
2 2 2 2
46 T 357 Tr 44 it 87T m 99 45t
79 =— R TI0=—"", Tl =—", TI2=—"", Ti13="", Ti4=—"", T15=-
3 3 3 3 4 4
57w 103 & 161 = 143 &t 97 1t
T16 =—""), T17 =— , T8 =— . T19 = , 720 =
4 6 6 6 6

13=n
721 = Cos(—13 ), 722 =Sin(-9 ), 723 =Tan( 14 ), 724 = Csc(-10 m), T25=Cos( 5 j

( 25nj ( 19nj (3lnj (37nj _(49nj
T26=Sin| ———— |, 127 =Cot| ——— |, 728 = Tan| , 729 = Cos , T30 = Sin
2 2 2 3 3
o 3l n 51m ) 671 19n
, T32 = Sec , 733 =Cos —T , T34 = Sin —T , T35 = Cot —T

3
o 41 47 1t 89 n
j, 738 = Cos(— —6 ), 139 = Sec(— —6 ), 740 = Tan(— p )

T36:Tan(—3?Tnj, 137 = Sln(61
Cos(—%Tn]—6 3Tan[49nJ+6ﬁcot[49nJ
ol 225l o) e 22
T43=342 Sec( j 0{_ 776nj

J el 2
744 = 3[(:0{ j 2[(;50( )+1zfsec( ) (4an
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52
731 = Tan|

T41 =2 Sec[
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TrigonometryExercise for ID 9018

191 131 Tn RRE
T =-6m, 72=10m, T3=9m, T4 =-5m, 75 = , T6 = , T7 =——"", 78 =—
2 2 2 2
197 26 347 35m 51m T1n 49 1t
79 = , T10=——"", Tl =—"—, T12 =", T13=- , Ti4=—"] T15=
3 3 3 3 4 4
53¢ 121 = Tl = 91 = 149 &t
Ti16 =— , T17 = . TI8=—", T19=——""", 720 = —
4 6 6 6 6

27 n
721 = Cos(15 m), 722 =Sin(11 m), 723 = Csc(-7 m), 724 = Sec(—17 n), T25=Cos(— 5 j

i 297 (37m 257
, 127 = Cot| — , T28 =Csc 5 ) 729 = Sin , T30 = Cos 3
44 431 (65m 33x
T3] =Tan| ——— |, T32 = Sec , 733 =Cos| — 1) T34 = Sin 1) T35 = Sec 4
i 43 7t 35®
), T37:Cos( j, j, T39:Csc( ), 740 = Sec(— )
6 6 6 6
1 97 6lm 16 43 1t
T4l ==4[3 cm( j ) Tan( j 6 COS( ] 12 CSC( ]
3 6 4 6
65 35 2 59 21
T42:2«/5Csc( nj«/;Tan(— Tnj_gﬁ Cos(— TnjﬁSec( j

Y
4 4

257 (3Tm 103 257
743 =2 Sec —3«/ESm + 6 Cot| p Tan

3 4 3

i 27 m 67m ) . 291
— 24 Cot| — Cos Sin| —
4 6 3
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. (35 2
726 = Sin —
2
16 ]
3
61

3n

2
T
T

3
197

(55
736 = Tan| — 738 = Sin

91
T44 = Csc(
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TrigonometryExercise for ID 9036

11x 15= 291 9n
T =-2m, T2=5m, T3=14m, T4 =-7 m, 75 = , T6 = — , 77 =— , 8=—"
2 2 2 2
46 1t 257 50m 597 657 I57 45 it
79 =— , TIO:T, T”:_T’ TIZ:T, TI13=—"", Ti4=——"", T15=-—

637 737 Tl = 137 & 127 &
T16:T, T17:T, Ti18=—""" T19 =— 1720

2

5 =

29n
721 = Cos(—16 ), 722 =Sin(-13 &), 723 =Sec(10 1), 724 =Csc(7 m), T25=Sin(

231w 197 25w 31n (43 n
1726 =Cos| ——— |, 127 =Cot| ———— |, 728 = Csc , 129 = Cos , T30 = Sin
2 2 2 3 3
14 37n ) 231 69 1 37w
T3] =Cot| ——— |, 732 =Csc , T33=Sin| —— |, T34 =Cos , T35 = Sec
3 3 4 4 4
297 , T1n 47 1t 89 85m
T36 = Csc( j, 137 = Sln(— —j, 138 = Cos(— —), 139 = Csc( j, T40 = Sec( j
4 6 6 6
89 m 21w 17w 53¢
T41=124/3 Cot(— — jﬁ COS( ; ) 81 Tan( 3 )Sec[ J
([ 25m Sn
T42:4«/§Sln —9«/§Sec— «/7Csc
7n
T43=242 Cos( j 343 cm( j+3o Sm( jf CSC( j
4 T 671 41 17 =
T44:g«/§ Sin(— ?j—2 Csc( p j—«/; Sec( p J+4Cos(— 3 J
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TrigonometryExercise for ID 9037
on 277 137 277
TI=6m, T2 =-13m, T3=-2m, T4=5m, T5=—""7, 76 =—- , 17 =—- , 78 =
2 2 2 2
197 47 n 22 26 537 47 n 49 1t
179 = , TI0="", Tll=——"", TI2=—"", Ti3=—"—", Tl4 = Tl5=
3 3 4
59n 119w 127 77 121 m
TI6=—"", T17 = , TI18=- , T19=—T, 120 =
721 =Sin(9 ) 722 = Cos(—8 m), 723 =Sec(—11 1) 724 = Tan(—15 ) 725 Cos( j
(33m 237 35m 49 7t
T26 = Sin , T27 = Sec , T28 = Csc , 729 = Cos
2 2 2
351 46 1t
T31 =Csc —T s 732 =Cot

51m
j, 133 = Cos(— —j, T34 = Sln(
3 4
25 ¢ ) 101 59
736 = Sec( 1 j, 737 = Sln(— —6 j, 738 = Cos(

T
——j, 739 = Cot(
6
6lmn
T41 =64/ 3 Cos

43 n
J—ﬁ(:sc(— —j 118 cm(
6 4

61
T42 =4 Tan

j, 130 = Sin(

557
j 735 =Csc| — j

4

797
j T40 = Tan( p j

257
ERNESENEANES
T43 = 2CSC( j 442 Sm( ] 9.3 Cot( ]+9[ Sec( ]
) . T44=2cOs(zin]ﬁSec(zinj—% Tan(73 8

3

23 1
Cot| —
6
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TrigonometryExercise for ID 9138

15w 131 Tn 291
T =-9m, T2 =-12 m, T3=8mn, T4=3mx, 75 = , T6 = , T7 =——"", 78 =—
2 2 2 2
137 26 357 46 T 6lm 891 91 =
79 = , T10=——"", Tl =—""", T12=—"", T13=- , T14 = R T15=-—
3 3 4
791 127 &t 737 101 = 107 &
T16 =—"", T17 =— , TI8=—", T19 =— , 720 =
4 6 6 6 6

On
721 = Sin(-11 ), 722 = Cos(13 m), 723 =Tan( 14 ), 724 = Cot(15 1), T25=Sin( 7

i 231 13w ) 20
, 127 = Tan —T , 728 = Cot —T , 729 = Sin| — , T30 = Cos| —
41t 44 1t 257 29
731 = Csc(— 3 j, 732 = Tan(— ?j, T33 = Cos( 1 j, T34 = Sin(
T

T 27
j T35 = Sec(—
4
21 ) 95 m 6lm 3
T36:C0t( 4 ), 137 = Sm(—T), T38=Cos£ p

4 j

47 83w

), 139 = Csc( j T40 = Sec(— )

6 6

(28w

T41=2ﬁsln[ S J—6ﬁcOs(
21 37
2 sl 22

] of 5. rofes
j—sﬁSeC( jchc( n J

n)—36ﬁ3ec(49
T44=3ﬁ€0t(— 3?“] (

T 52w 35 T
Csc
3
PO.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00000000 000000000000

35
726 = Cos( 5

)

742 =20 Tan(

49
T43 =4/3 Tan(

ol (2
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TrigonometryExercise for ID 9602

21 = 11x 27 1 217

T =-2m, T2=6m, T3=5m, T4 =-7 m, 75 = , T6 = , 77 =— , 78 =—
2 2 2 2
197 44 nt 347 53¢ T3 7 91 = 791

79 = , T10=——"", Tl =—"—, T12 =", TI13=—"", Ti4=——"", T15=

3 3 4 4
377 137 & 121 = 107 & 791
T16=—T, T17 =— , T18 = P T19 = P 720 = — p

721 =Sin(14 ), 722 = Cos(—15 ),

33 =
723 =Csc(11 m), 724 = Sec(15 m), T25=Sin(— j

351 5= 297 38n (3lm
726 = Cos ——2 , T27 = Sec 5 ) 728 = Tan| 5 ) 729 =Cos| — , T30 = Sin
43 n 37w 57 ) 41
T31 = Sec , T32 = Tan| , T33 =Cos , T34:Sm T35 =Cot
3 4 4 4
35m 103 & 61w 671 77
T36 = Sec(— —), T37:C05( ), 738 = Sin| s T39:C0t( ) T40:Csc(— )
4 6 6 6
971

29 79
T41 =3 3Tan( p —18«/7$ec( anln( n]chc( j
14 (49= 101 & 221
T42 =20 Sec(—Tjﬁ Sm( p j—36 COS( j (
83 171
743 = [Cot( j 2«/7C0s( ]+9Tan( 6n]Csc( 3 j
33
T44:4C0t( 4“}—9 3Tan( j NE) Sln(

s ol 2
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TrigonometryExercise for ID 9616

35n 131 27 1 41t
TI=-5m, 2=12x, T3 =-14 m, T4=3mx, 75 = , T6 = , 77 =— , 78 =—
2 2 2 2
47wt 257 56 28T 63 m 51m 8l m
79 = , T10 =", Tl =—"—, T12=—"", T3 = , Ti4=——"", T15=
3 3 4 4
45t 139 &t 7T 1 119w 133 =
T16:—T, T17 =— P T18:—T, T19 = P 720 =

721 = Cos(—7 m), 722 =Sin(-15 &), 723 = Csc(-16 m), 724 = Sec(8 1), 725 = Sln(

137w 11m 331 43
726 = Cos| — , T27 = Sec _T s 728 = Csc , 729 = Cos T30 = Sin| —
T 43 7t 69 35m 3w
T31 =Cot| — , T32 = Sec 3 ) 733 =Cos 1 ) T34 = Sin| — T35 = Sec| — 4
53n 43 1t [ 719m 3 n
T36:Tan( 1) T37:C05( ), T38:Sm( p ), T39:C0t( ) T40:Tan( )

6
37 55 101
T41=4Sin( 6n]—«/5COS(—TTE] ss [ j”[&)t( nJ
50 95 50
T42=+/3 Tan(— Tnj 6 sm(— Tnj +642 CSC(— Tnj V3 Cot(— Tnj

27w 26 47 n 6l n
13 =212 e - 222 |5 0 - 2% 61/3 cof 2% 2 s L

o 35n 35n 6ln
— 108 Csc| — Cot| — Sec
3 4 6
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T44 =2 Tan 4
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TrigonometryExercise for ID 10152

RN 23 1 37n 291
TI=5m, 2=12x, 73 =-14 m, T4=-15m, 75 = , 76 = — , T7 =— , 78 =

2 2 2 2

16 44 it 35m 7 77 757 95«
79 =— R TI0=—"", Ti] =—"""), TI12=—"", Ti13=—"", Ti4=—"", T15 =
3 3 3 3 4 4 4
&9 1 1257 103 & 107 & 6lm
T16:T, T17 =— P T8 =— P T19 = P 720 =

17w
721 =Sin(-8 ), 722 =Cos(11 ), 723 =Csc(12 m), 724 = Cot(16 1), T25=Cos( 5 j

, ( llnj ( l3nj (23nj (22nj _ ( 17nj
T26 =Sin| ———— |, 127 =Cot| ——— |, 728 = Tan , 729 = Cos , T30 = Sin| —
2 2 2 3 3
o 49 n ([ 53= 33n 5=
, T32 =Csc , 733 = Sin| , T34 = Cos , T35 =Tan| —
3 4 4 4
391 55n , 297 103 91 n
T36:Sec(—T), T37:C05( p ), T38:Sm(—T), T39:C0t( ), T40:Csc( )
T 39
j—2COS£ J+6«/7$ec[ J[Csc( j
29 45
nj«/;Cot(— —3nj—40 Tan( nj Sm( j
31n 457) (91=® 41wt
T43:2«/§C0t —40 Tan Sin| Sec| —
6 4 6
37w 61 m 33n 227
T44:3«/§Cot( ]—2Sin( j—2«/§8ec( ; ]+g«/§Tan( : j
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34
131 = Cot(

57
T41 =5 Tan( 1

97
742 =15 Csc(
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TrigonometryExercise for ID 11738

11x 33 35n 251
TI=11m, T2=2m, T3=-13m, T4 =—-6m, 75 =— , T6 = — , 17 = , T8 =
2 2 2 2
17 = Tr 387 227 77 91 = 49t
79 = S T10=—"", Tl =——"", Ti12=——"", TI3=——"", Ti4=——"", T15 =
3 3 3 4 4
631 149 t 109 ©t 91 = 1317
T16 = . T17 =— , T18 = . T19=—"7" 720 =
4 6 6 6 6

°

721 = Cos(—12 ), 722 =Sin( 15 m), 723 =Csc(-16 1), 124 = Tan(-9 1), T25=Sin(

i I5= 117 _ 177
, 727 = Cot 5 ) T28 = Sec 5 ) 729 = Sin| — 3 ) T30=Cos

o 49 (21= 53m
, T32 =Cot , 733 = Sin 1 ) T34 =Cos 1 ) T35 =Cot| —

3
391 (91w 297 55m
T36 = Csc(— Tj’ 137 = Sln( j, 138 = Cos(— T), 139 = Csc( j, T40 = Sec( p j

cros ol 2] el
ol s o 22
sl 2 e el ) )
e o 25 {85 2 B3] 22
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27
726 = Cos( ;

U’ w

46
731 = Sec(
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TrigonometryExercise for ID 11754
231 AR 37w 3l
TI=15m, T2 =-11m, T3=-4m, T4=12 =, T5 = , 76 = , 17 =- \ T8 =—
2 2 2 2
237 197 221 38mn 49 1t 95n 77 n
79 = , TI0=—"", Tl =—"—, TI12=——"7—, TI13=—"", Ti4=—"", T15=-
3 3 3 3 4 4
107 & 121 m 103 & 95n 125w
T16=- , T17 = , TI8=- , T19=—"", 720 =—
4 6 6 6 6
) 27 n
721 =Sin(15 m), 722 = Cos( 14 ), 123 = Tan(—13 ), 724 = Csc(9 ), T25=Cos( j

_ 1= 15
T26 = Sin —T , T27 =Tan

T 1= (46T 197
, 728 =Csc| ———— |, 729 = Sin , T30 = Cos

2 2 3 3

On

3

T

) 19n 671 73
B 733 = Sin _T , T34 =Cos| — 1 ) T35 =Cot

T
j, 732 = Tan(—
4
85w n)

43
731 = Csc(

R R
T41=3ﬁTan(—35—nj— ( j+6[c()s( j ( 101“}
e 52} 2] el 52

SUEINESRERHES e
T44 = 6fcc>s( j 3[(;0{ j w’sln( )+3«/§Sec(49nj

),0:9:9.0:9:9.0:9:0.0:9:0.0:9:9.0:9:9.0:9:0.0:9:0.0:9.:0.0:9.0.0:9.9.0:9:0,0:9:9.0:9.0.0:0.0.0:9.:0.0:9.0.0:9.9.0:9.:9.0:9:0.0:9.0.0:9:0.0:9.0.0:9.0.0:9.:9.0:9:0.0:9:0.0:9:0.0:9.0.0:¢

2
2

97
), T40 = Csc(

6ln )
136 = Sec( ), 137 = Sm(

X [Page = 0011]




):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXXKX XXX KKK KKK KKK KKK KKK KKK X KKX KKK XKKXXKKXME /1-6300101-00012XX

TrigonometryExercise for ID 11841

251 17 n 35w 11x
Tl =-13 m, 2=11m, T3=2m, T4=-12 m, 75 = , 76 = — , T7 = , 78 = —

2 2 2 2

50m 297 347 13 = 91 = 797 89 n
79 =— , T10 =", Tl =—"—, T12 =", TI3=—""", T14 = T15=
3 3 3 3 4
537 137 & 107 & 133 & 677
T16:—T, T17 =— P T18 = P T19 = P 720 = —

721 =Sin(8 m), 722 =Cos(16 ), 723 = Cot(9 ), 724 = Sec(16 1), 725 = COS( j

] 33n 13x 3ln 49 7t 287w
T26 = Sin| ———— |, T27 = Sec , 728 =Csc| ———— |, 729 = Cos , T30 = Sin
2 2 2 3
35n 287w 277 _ S9n
T3] =Csc| ———— |, 732 =Cot , 733 =Cos| —— |, T34=Sin| —— |, T35 = Sec| —
3 3 4 4
T ) 53n 297 55m
), 137 = Sm(— T), T38=Cos£— T), T39=Tan( ), T40=Cot( p )
4 ) 41 53 41 22 m
T41=—ﬁsln(— ]—CSC(— ; j—4C0t( ; ]+4COS( ]
45 31
742 = 6«/781n( j 9«/7Tan( j [Sec( 4njCos( j

26 1t 91 =« 291
T43 =18 Csc| — 3 Sec p — 6 Tan

T44 = 3Tan( j 20[(30{ jfs (4j“j3ec(4(; j
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37
736 = Csc
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TrigonometryExercise for ID 11842

9n 191 R 291
TI=11m, T2=14 =, T3 =-8m, T4 =-13 m, T5=—"", T6 = — , 17 = , 78 =—
2 2 2 2
S9n 43t 20 46 T 95 m &3 1 8l m
79 = , T10 =", Tl =—"—, T12=—"", TI13=—"", T14=— R T15=
3 3 3 4 4
6lm 113 =« 103 & 131 m &S m
T16=——""), T17 =— , T8 =— P T19 = P 720 = p

35~
721 = Cos(—10 ), 722 = Sin(-6 1), 723 =Sec(—17 m), 724 = Tan(—6 1), T25=Sin(

25w 33x 23w

726 = Cos —T , T27 = Cot 5 ) T28 = Sec 5 ) 729 = Cos| —
e 471 [ 65m

, 732 =Csc —? , 733 = Sin 1 ) T34:COS
297 ) 41

j, 137 = Cos(— —6 ), 138 = Sm(— —6 ), 139 = Sec(

103 &
) T40:Cot( j
6
41 37
T41 =54 Csc(— TRJ Cot[ 6RJ - 4«/5 Sin( ][Tan( n]
67 31 29
T42=«/§Cos(——nj—4Csc( nj+10«/§Cot(— anan( nj
4 6 3 4
297 89 n 17n 33n
T43=34/3 Cot(— Tj ~ 16 Sin(— Tjﬁ Tan(— T]ﬁ COS( ; ]
1 25 67
T44:5«/5Csc( 471) 2C0s( j 2«/7Tan( j+4Cot(——4n]

),0:9:9.0:9:9.0:9:0.0:9:0.0:9:9.0:9:9.0:9:0.0:9:0.0:9.:0.0:9.0.0:9.9.0:9:0,0:9:9.0:9.0.0:0.0.0:9.:0.0:9.0.0:9.9.0:9.:9.0:9:0.0:9.0.0:9:0.0:9.0.0:9.0.0:9.:9.0:9:0.0:9:0.0:9:0.0:9.0.0:¢

730 = Sin| —

)

52
731 = Tan( 3

/ﬁ\/—\\
[\9]

[\

a w |W
a

Ne—

‘Q ~

57
T36 = Sec

[Page = 0013]




):0:9:9:9:9.9:9.9.9.9.9.9:9.9:0.9:9.9:9.9:9:0:9:9:9:9:0:9:9:9:9:9.:9:9.9:9.9.0.9:9.9:0.9.0.9:9.0:0.0:9.0:9.0:9.9:9.9:9:0:0:0:0.9.9:9.9.9.9:9.9.9.9:0.9:9.9:9.9.9.0:9.0:9.0:0.9:0:0:0:9:9:0.0:9.9.9.0:0.0.0.0.9.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXLXXKXKXKXKXXXXXXXKXXKXKXXLXXKXKXK LXK KKK KX KXKXXKXXKKXKKXKKME /1-6300101-00014XX
TrigonometryExercise for ID 11901

TI=-15n

171 25 ¢ 191 23 1
T2=14 =, T3=3mn, T4=-12 m, 75 = , 76 = — , T7 = , 78 = —
2 2 2 2
237w 257 10= 327 T3 7
79 = , TIO:T, Tll=——"", TIZz—T, Ti3=—""), T14=—-——"",
95 = 121 =
T16:T, T17 =

, 1718 =

T

95 n
, T19=—""
6

6 6
721 =Sin(-11 ) 722 = Cos(15 m), 723 = Tan(—16 ), 724 = Sec(—14 n), 125 Sm(—
17 n 231 33n 44 7t 41
726 = Cos 5 ) 127 = Tan —T , T28 = Sec 5 ) 729 = Cos| — T30 = Sin| — 3
50m 46 ) 27m 471
T3] =Tan| ——— |, T32 = Sec , T33=Sin| ——— |, T34 =Cos| — T35 = Sec| —
3 3 4 4
( 19n) (977:] , ( 59n) ( J (9171]
T36=Tan| —— |, 137 =Cos , T38=Sin| ——— |, 139 = Sec T40 = Cot
4 6 6 6
1 227 69 Tr
T41=§ﬁTan[ S J—2«/§Sec( p J—S«/;Cot( j+8COS[ 3 J
41t 6lm 55m 19
742=94/3 Coff ——— | =3 Tan 436 Cos Csc
3 4 6 3
19w 37 n 46 101
T43 =5 Sec - 12«/5Csc Tan Cos| —
3 4 3 6
197 227
T44 =18 Tan(——4 j«/;Sin( 3 j—4«/§Sec(
= 0014]

T RN
——— |42 Csc| —
6
PO.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00000000 000000000000
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TrigonometryExercise for ID 11947

R AN 17 n 231
Tl =5m, T2 =-12 =, T73=10m, T4=-7m, T5 =— , T6 = — , T7 = , T8 =
2 2 2 2
17w 44 nt 227 197 757 47 1t 8l m
79 = , TI0=—-——"", Tll=——"", TI12=—", Ti3=—"—", T14=—""" T15=
3 3 3 3 4 4
6lm 113 n 95 n 109 55 ¢
TI6=—"", T17 =— . TI8=—", T19 = . 720 = —
4 6 6 6
11w
721 =Sin(13 m), 722 = Cos(—15 m), 723 = Cot(-6 1), 724 =Sec(9 m), T25=Sin(— 5 j
21 m 257 I1= (40m 17 =
726 =Cos| ——— |, T27 =Cot| ———— |, T28 =Tan| ——— |, 729 = Sin , T30 = Cos| —
2 2 2 3
R

3
471 231 43 n ) 69 1
T3] =Tan —T , 732 =Cot —? , 733 =Cos| — , T34 = Sin| — 1 ) T35 = Tan| 4

4
T 55m [ 719m T1n 101
j, 137 = Cos( j, 138 = Sm( j, 139 = Csc(— T), T40 = Tan(— p )
21w 61
T41 =4 Cot 1 —72 Cos

6
T STn 237
j«/ngc[ JSin(— j
4 3
47 n 44 47 61l n
T42:lO«/§Cos 6 Sec —T — 15 Tan| — 4 Csc B

41
736 = Cot]

37w 43 t 20w 47 n

T43=2ﬁ0sc( ] j—zﬁTan( ; j—lOCOS(—Tj-%—?)«/ESin(— ; ]
35« 25w 61l m S51m
T44=«/§Sec(—Tj—8COS( . j+2ﬁTan( ; Jﬁsm{- y j
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TrigonometryExercise for ID 11989

15w 171 5w RN
TI=3m, T2=-12 m, T3 =-13 m, T4=14 =, 75 =— , T6 = — , T7 =—"", T8 =
2 2 2 2
S9n 46 T 197 26 757 57 m 6lm
79 = , T10=——"", Tl =—"", T12=—"", TI3=—"", Ti4=—"], T15=-—
3 3 3 3 4 4
55 = 103 & 97wt &3« 137 &
T16=—" T17 =— . TI8=—"", T19=—"", 720 = —
4 6 6 6 6

721 =Sin(5 ), 722 = Cos(13 m), 723 =Sec(6 1), 724 =Tan(-8 m), T25=Cos(—

3lm
2
) 33n 1l n 351 197 _ 44 1t
T26 = Sin _T , 127 = Cot| — , 728 = Tan , 729 = Cos 3 ) T30 = Sin| —
T 637 69 1 3l
, T32 = Sec T33 = Sin| — , T34 = Cos , 735 = Cot| —
3 4 4 4
i ) 95n 351 971
j, T37=Sm( j 138 = Cos( p j, T39:S€C(_Tj’ T40:Tan( p j
1= 38mn 47 1t
T41=242 CSC( ) ( j— 10 COS(— Tjﬁ sm[— J
67 37 29
T42:4«/§Sin( nj_ IOﬁSec( 6R)COS( 3anan( 4nj
"
t

3
T43 =43 Tan(zin] 6 Sin(73 RJ _ 6«/5C0s(42nj 1643 Co (34
3
DGR Te [CHE NI 0N RSN D 0:0:9:9.9:0:0:0.:9:9.0.9:0:0.:9:9:9.0:0:0:0:9.9.9:0:0:0:0:9.0.9:0:0.9:9.9.0:0:0:0:9.0.0:0:0:0:9:9.0.0:0:0.0:0.0.0:0:0.0:0.0.0:0:0:0:9:9.0.0:0:0.0:9.0.0:0:0:0:0.0.0:0:0:0:9:0.0:0:¢

37
731 = Tan(

69
736 = Sec

6 3
) 101 = i 3= S3m
T44 =4 Sin —? —4 Cos| — + 12 Cot 4 Csc| — p




):0:9:9.:0:9:9.0:9:9:0:9.9.0:9.:9.0:9.9.0:9.:9.0.9.:9.0:9.9.0:0.9.0:9.:9.0:9:0.0.9.0.0:9.9.0,9.9.0:0.9.0:9.:9.0:9:9.0:9.:9.0:9.9.0:0.9.0.0.:9.0:0.9.0.9.:9.0:9:9.0:9:9.0.9.:9.0:9:9.0:0.9.0:0.9.0:0:9.0:9:9.0:0:9.0:9:0.0,0.4
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXKXXXKXXXKXXXXXXKX XXX KKK KKK KKK KKK KKK KKK X KKX KKK XKKXKXKKXME /1-6300101-00017XX

TrigonometryExercise for ID 11996
21 n 191 291 35w
TI=10m, T2=15m=, T3 =-7Tm, T4 =—-6m, 75 =—- , T6 = — , 17 = , T8 =
2 2 2 2
46 1t 387 31m 297 89 n 95 =
79 =— , T10=——"", Tl =—""", T12 =", TI13=—"", Ti4=——"", T15 =
3 3 3 3 4 4
6lmn 97 1 67mn T 107
Ti16=—"", T17 =—"", TIS=——"", T19=——""], 720 =
4 6 6 6 6

25m
721 = Cos( 14 n), 722 =Sin(17 &), 723 = Csc(15 m), 124 = Tan(—14 n), T25=Sin( 5

33n 19 T ([ 19m
T26 = Cos , 127 =Cot , T30 = Sin 3
237 177 35n 59n 671
131 =Cot| ———— |, T32=Sec| ———|, 733 =Cos| ——— |, T34 =Sin| —— |, T35 =Cot| ———
3 3 4 4 4
T (91m 41 91 n T
), 137 = Sm( p ), 138 = Cos(— T), 139 = Csc( )
37n 6lm 73 n 227
T41=6Cos( 3 j—4«/5$in( ; ]—9ﬁ8ec( ; ]+3 3Tan[ S J
21 47 16 61
T42=6Cot( TCJ\/?COS(—TRJ— 10 Sec( njﬁCsc( 4nj
44 1t 49n) (40= 85m
143 =4 Cos - = |- 1242 Csc L sinl | co =

49 1t 197 22 1 357
T44 =4/ 3 Tan -3 Cot _T + 162 Csc Sec| — p
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i 31n 37
, 728 = Csc —T , 729 = Cos

49
j, 740 = Cot(

73
T36 = Sec
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TrigonometryExercise for ID 12889

T =-9m,

9n 191 37n 191
12=7m, T3=4m, T4 =-10 m, T5=—"", T6 = , 77 =— , 78 =—

2 2 2 2
44 it 35m 257 10m 791 37m 99

79 =— , T10 =", Tl =—""", T12=—"", T3 = , Ti4=——"", T15=-—

3 3 4
57w 95« 109 &t
T16:T, T17:T, T18 =

55 = &9 1
. T19=—"" 720 = —

6 6
721 = Cos(—17 ) 722 =Sin(-15 1), 723 = Tan(6 1), 724 = Cot(-11 1) 725 Sln(
1=
726 = Cos

, T27=Cscl ——— |, 728 = Tan| —
2 2
32n 207 35n AN 5
T3] =Tan —T , T32 =Csc —T , T33 =Cos —T , T34 = Sin , T35 =Csc
33n (73m 3l n
T36:Sec( 4 ), T37=Sm( p ), T38=Cos£

85m
), 139 = Csc( j T40 = Sec( )
6 6
49 23
T4]=3«/58in( n] 36 os( jf(:sc( n] ( ]
437
T42—1()Sln( J 2[(20{ )—3860( . j+5Csc( ; J
59 32 85
T43 = «/? Cot(— _nj - «/E Sin(— _nj +8 Tan(— nj Cos( nj
6 4 3 6
33 85 47
T44:4Cot( 4njﬁTan( 6nj—4ﬁsm(— -

69
A/ 2 Cos
3
PO.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.00000000 000000000000

157 (46T
T R 729 = Sin

21nj
2
40
j, T30=Cos( j
3 3
7nj
4
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TrigonometryExercise for ID 12890

131 191 171 RO
Tl =-13 m, T2 =-8m, T3=3m, T4=2m, T5 =-— , 76 = — , T7 = , 78 =
2 2 2 2
13 = 50m 53® 40 57Tm 47 6lm
79 = , T10=——"", Tl =—""", T12=—"", TI13=—"", Ti4=—"], T15=-—
3 3 3 3 4 4
S9n 557 77 121 = 143 &t
TI6=—"", T17 =——"", TI8=——"", T19 = . 720 =
4 6 6 6 6

2
721 =Sin(7 m), 722 = Cos(—15 n), 723 =Csc(-16 1), 724 = Cot(8 ), T25=Sin(

“)
231

17 n 19n 17 n 22 n )
726 = Cos| — 5 ) 127 = Tan —T , 728 = Cot , 729 = Cos 3 ) T30 = Sin| —

14w 37w 651 ) 27m 5=
131 =Cot| — , T32=Tan| — |, T33 =Cos , T34=Sin| ——— |, T35 =Cot| —

3 3 4 4

27 351 , 297 43 1t 971
736 = Csc| — s T37 =Cos| — 6 ) T38 = Sin —T s 739 =Csc , T40 = Cot

1

T41=2ﬁsm(sin]—2ﬁcm(676nj—4Sec[—%Tanan( > “]
o)) e el
T43 = 400{ j 943 Csc( j+36[ Sec( j[ Cos(

:
e
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TrigonometryExercise for ID 12891

217 23 1 AN Tn
Tl =-15m, 2=11m, T3 =-8m, T4=2m, T5 =-— , 76 = , T7 = , 8=——"
2 2 2 2
47wt 28T 56 197 T3 7 47 T
79 = , T10=——"", Tl =—"—, T12 =", TI13=—"", Ti4=—"], T15=-—
3 3 3 3 4 4
99 1t 149 &t 127 & &3 1 6l m
TI6=—"", T17 =— . T8 =— , T19=—""", 720 =
4 6 6 6 6

17w
721 =Sin(16 1), 722 = Cos(—13 ), 723 =Sec(14 n), 724 = Cot(-15 m), T25=Cos( 5 j

) 19w 33n 25m [ 25m 41
T26 = Sin —T , T27 = Tan| —T , T28 = Sec —T , 729 = Sin , T30 = Cos| — 3

3
T 351 197 _ 47 1t 297
, 732 =Csc —T , 733 =Cos —T , T34 = Sin —T , T35 = Sec 4

3
i (719 m 3= 41 71n
), T37=Sm( ), T38:Cos( j, T39:Csc(—T), T40:Sec(— p )
8

T36:Tan(4j p p
) 5222 2

2 oI
3 4
j ( SOEJ
3 Csc
3
47 1t

a2 -3 sed 2L j L cof -2 jzfsln(
1) e 1]

1 S5n S5m
T43=—4/2 Sec| ———— |—6Sin| ——— |+24/3 Csc
2 4
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52
131 = Sec(

741 =8 Cos(

3
] s Sl
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TrigonometryExercise for ID 12917

R AN 191 171
TI=-Tm, 2=12m, T3=5m, T4=-14m, T5=- , T6 = , T7 = , T8 =—-

2 2 2 2

53® 26 31m 16 8l m 45t 63 m
79 = , T10=——"", Tl =—""", T12=—"", TI13=—"", T14=— R T15=
3 4 4
75w 133 7 77 119 = 67
Ti16 =— N T17 = . T18=—T, T19 = . 720 = —

6
. ) 31n
121 = Cos(5 m), 722 =Sin(-16 1), 723 = Cot(-14 n), 724 = Csc(6 1), T25=Sm(— j

35n 297 1= (l6m 26w
T26 = Cos 5 ) T27 = Sec| — , 728 = Csc 5 ) 729 = Sin , T30 =Cos| — 3
17 = 237 2l = 671
T31 =Cot —T , 732 =Tan| — , T33 = Sin 1) T34 =Cos| — T35 =Csc| — 4
47 1t , 297 671 10l =
T36 = Cot(— —), 137 = Sln(— —), T38 = Cos ), 139 = Csc( j T40 = Cot(— )
4 6 6 6
651 T 49
T41 = 4Sec( J 9«/7Tan( +10 cm[ Jﬁs [ S J

B

T42 = 2[cm( j 60fsln( 9“jCOS( jfsec( 4175)
T43=9ﬁCsc( in)cm(—%j—g 3 Tan(— 356“jcos(25“j

3
44 1 [ 29m 29
T44=9 ﬁ Csc(— Tj -8 Sln(— Tj -4 Tan(
[Page = 0021]

T 26
+343 Cot| ————
4 3
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TrigonometryExercise for ID 13099

11x 257 25 ¢ 191
TI=3m, T2=-9m, T3 =-16m, T4=14 =, 75 = , T6 = — , 17 = , 78 =—
2 2 2 2
Tr 237w 207 347 6lm 41 I5 7
179 =—"", TI0=—"", T1]=——""—", TI2=—"", Ti13=—"", Ti4=—""", T15=-
3 3 3 3 4 4 4
637 55 = 109 &t 119w 113 =«
T16 =—"", T17:—T, T18 = . T19 = , =— p

15
721 =Cos(—6 1), 722 = Sin(-12 m), 723 = Sec(—14 n), 724 =Csc(12 m), T25=Sin(— ch
3ln 157 257 44 7t _ 351
1726 =Cos| ——— |, T27 =Csc , 1728 =Tan| ———— |, 1729 =Cos| ———— |, T30 = Sin| —
2 2 2 3 3
41 50m 57 ) 3l 43
T3] =Csc| ——— |, 732 =Tan| ——— |, 733 =Cos , T34=Sin| ——— |, T35 = Sec| —
3 3 4 4
69 89 n (73 m S9n 47
), 137 = Cos(— —j, 138 = Sm( j, 139 = Csc(— ), 740 = Sec(— )
4 6 6 6
T 49
j—STan( ]— ( ] [Cot( j
j 3 Csc( j+9«/§Tan( j[Sec( j
e 291 83 3 n
_ _ ——— 1|42 _
4 )Sec( 3 J 9 Csc( P ]«/7 Cos( 4 )
33n 231 227
el 2 o o )
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736 = Tan(

28
T41 =2 Sec(

142 = «FCOS(
T43=642 sm(—

744 =3 Cot(
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TrigonometryExercise for ID 13100

197 251 27 x RRE
TI =9, T2=-15m, T3 =-6m, T4=10m, 75 =— , T6 = , 17 = , 78 =—

2 2 2 2

237w 31m 46 1t 207 53m 41t 95 =

79 = , T10 =", Tl =—"—, T12=—"", TI3=—"", Ti4=—"] T15=
3 3 3 3 4 4
51m 107 & 1257 791 6l m
T16:—T, T17 = P T8 =— P T19:—T, 720 =

23 n
721 = Cos(—12 ), 722 =Sin(16 m), 723 = Tan(6 ), 724 =Cot(17 1), T25=Cos(— j

2
i 137 17 = (46T 47 1t
, 127 =Csc , T28 = Sec| — 5 ) 729 = Sin , T30 = Cos| —
9

2 3
T 49 1t 69w 51m
s T32 = Sec| — , 733 =Cos 1 ) T34 = Sin 1 ) T35 =Tan| — 4

;

NS A B EL
S o e S5

a2 =6:/3 Cof T2 |25 cof =227 ) 3.2 s - BE |23 man - 2
s ) e )22

T44= szc( j fcot( “j+13—6ﬁsm(193”]ﬁc%(_21“]
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(23
726 = Sll’l(
2

22
131 = Tan(

45
736 = Cot]
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TrigonometryExercise for ID 13139

217 Or 15w 15w
TI =9, T2 =-14 m, T3=-15m, T4=8m, T5 =-— , T6 =——, T7 =— , 78 =
2 2 2 2
20 41t 16 &t 31m 41 55 ¢ 6lm

79 =— , T10 =", Tl =—"—, T12 =", TI13=—"", Ti4="], T15=-—

3 3 3 3 4 4
91 = 121 = 89 n 107 & 55 =
Ti16 =— , T17 = . TI8=——"7, T19 = . 720 = —
4 6 6 6 6

1=
721 =Sin(7 m), 722 =Cos(—8 m), 723 =Cot(9 m), 724 =Sec(7 m), T25=Sin(— 5 j
7

i AR 197 (40w 47 1t
, 727 = Cot , T28 = Sec , 729 = Sin , T30 = Cos| —
2 2 3 3
32n 22 n i [ 53= 3l
T31 = Sec —T , 732 = Tan| 3 ) 733 =Cos| — , T34 = Sin 1) T35 = Cot —T
i 83 m (6l S9n 3 n
j, T37:C05(—T), T38:Sm( p ), T39:Csc(— j, T40 = Sec( j
T41 = fSec( ) 3[cm( j— 108 ( ) f(:os( J
671 Om
1742 :«/;Cot( j 3 [Cos( j+ 6 Csc( B jSec( 3 j
95 n 33 471 53m
T43=3«/§C0t - Tan -9 Csc| — Sec| —
6 4 3 6
31 55
n]—36«/§€ot(— 7T)Tan(— 4nstc( 671)

X [Page = 0024] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXKXKK KKK XXX XXX KKK KKK KKKKKXX

31
1726 = Cos(
2

(@)Y
a »|©w

29
736 = Csc
4

41
T44 =4 2C0s( 1
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TrigonometryExercise for ID 13411

157 291 291 Tn
T] =-8m, 72 =-11 m, T3=5m, T4=6m, 75 = , T6 = , 77 =— , 8=——"
2 2 2 2
297 257 50m 16 63 m I57 65m
79 = , T10 =", Tl =—"—, T12=—"", T3 = , T14=— R T15=
3 4 4
85w 103 & 133 &
T16:—T, T17 =— . 18 =

107
19 =

2

b

721 =Sin(-13 &), 722 = Cos(—15 ), 723 =Cot(16 ), 724 =Sec(17 1), T25=Sin(—
23w
726 = Cos

337
5 ) T27 =Csc

j (13n
R 728 = Tan|
2
52w
T31 =Cot

) 17 =
j, 129 = Sm(— —j, T30 = Cos(
2 3
49 n ([ 57m 41 n
3 ) T32 = Sec 3 ) T33 = Sin 1) T34 =Cos

671
J, 135 = Csc(— j
4 4
71n ) 101 71n 65m 3
136 = Cot(— Tj’ 137 = Sm(— Tj’ 138 = Cos(— T), 139 = Sec(— —), T40 = Cot(

7 nj
6 6
43 n 1 45 44 nt 37w
ﬁu=2sm[ J——JECm( j+245mf=——JJ§Tm{ )
6 2 4 3 6
65 20 31 25
1u2=v5\3m( nj—2¢§(b{———£)—1osm( nj+5Tm{ nj
4 3 6 4
79 46 1t 59n 49
T43=2 «/; Cot( j -4 Tan( j Cos(— j «/E Sec( )
6 3 6 4
357 6l m
744 =4 Csc(— —6 jﬁ Sec(
0025]

] ,( 26nj ( 83nj
—36 Sin| ———— | Tan| —
4 3

6
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29nj

2
49 1t
7

3
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